lorces Keview!




Review of Concepls

-FORCE 15 A VECTOR (IT HAS MAGNTTUDE AND DIRECTION).
-MASS: THE MEASURE OF TNERTLA OF A BODY
-ETGHT FORCE DUE TO GRAVITY
NEWTON'S FIRST LAW: AN OBJECT WILL STAY AT REST OR TN MOTION AT CONSTANT SPEED UNLESS ACTED
UPON BY AN EXTERNAL, UNBALANCED NET FORCE
-FORCE - MASS 1 ACCELERATLON (F-MA)-NEWTON' S SECOND LAW
-FORCE OF GRAVLTY: T, - M6
-NORMAL FORCE: CONSTANT FORCE WHTCH ACTS PERPENDTCULAR T0 A COMMON SURFACE OF CONTACT
-EQUILTBRIUM: ZERD NET FORCE

~TERMINAL VELOCTTY: FASTEST SPEED TT WILL REACK TN FREEFALL



Review of Concepls

-NEWTON'S THIRD LAW: FOR EVERY ACTLON THERE IS AN EQUAL AND OPPOSTTE REACTLON

-ATR RESTSTANCE T5 PROPORTIONAL T0 SPEED, 50 THE FASTER YOU GO, THE RARDER THE FORCE WILL Bt

-FREEBODY DIAGRAMS: DIAGRAM SHOWING ALL FORCES ACTING ON AN OBJECT

-TYPES OF FORCES:

o  [ENSTON: WHEN A FLEXTBLE CORD PULLS ON AN OBJECT
FRTCTION: CONTACT FORCE, OCCURS WHEN ONE SURFACE ATIEMPTS TO MOVE ALONG ANOTHER
SURFACE, ALWAYS OPPOSES MOTLON

o KINETIC, ROLLING, FLUTD, STATIC

O THINGS THAT AFFECT FRTCTION: SMOOTHNESS OF SURFACE, WEIGHT (NDRMAL FORCE)



Review of Concepls

~FRICTION FORCE- THE COEFFICTENT OF FRTCTION ¥ NORMAL FORCE (EFUFN)

-THE GREEK LETTER MU= COEFFTCTENT OF FRICTIONS

-0BJECTS ON AN INCLINE: MORE CONVENTENT TO THINK ABOUT VECTORS ACTING PERPENDTCULAR TO THE
INCLINE.
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The normal force is
perpendicular to the
surfaces in contact.




MISCONCEPTION #2

®  MASS: THE AMOUNT OF MATTER THATTS TN ®  WELGHT: THE FORCE OF GRAVITY ACTING UPON
AN OBJECT AN OBJECT
®  NNEVER ALTERED BY LOCATION OR THE PULL OF o  VARIES ACCORDING TO LOCATION TN THE
GRAVITY UNTVERSE
o G ®  WEIGHT-MASS X GRAVITY
o NEWTONS

® “WETGHING” YOURSELF IS NOT EQUIVALENT
10 MASS OR WELGHT



MISCONCEPTION #3

CONSTANTFORCE - CONSTANT MOTION

®  MISCONCEPTION BY ARTSTOTLE

® [N THE ABSENCE OF FRICTION, AN OBJECT WILL CONTINUE AT
A CONSTANT SPEED TN A STRATGHT LINE

® AN OBJECTWILL ONLY SLOW DOWN WHEN A FORCE 1S APPLIED
ONTI

®  [AWOF INERTIA: AN OBJECT TN MOTION WLLL STAY IN
MOTION UNLESS ACTED UPON BY AN EXTERNAL FORCE

‘

shutterstf.;k'




Strategies

STEP - IDENTIFY WHAT TYPE OF PROBLEM YOU ARE DOING
~ KNOW WHAT EQUATION YOU NEED T0 USE
~ [FITTS ASKING FOR THE FORCE THAT TS EXERTED: FORCE- F=ma
~ LF THE PROJECT TS ASKING FOR HOW MUCH SOMETHING WETGHS: F.=mg
- IFITTSINVOLYING THE NORMAL FORCE : F.=F.
- [TTS ALWAYS PERPENDTCULAR TO THE SURFACE THAT THE OBJECT TS RESTING

- TREE BODY DLAGRAMS TREAT THE OBJECT AS A POINT
- WHEN DEALING WLTH FRICTLON: F=p.F.,
TEP - STAY ORGANTZED



Strategies

IRICTION MAY ASK WHAT TYPE OF FORCE TS HOLDING A CAR ON THE ROAD
NORMAL FORCE MAY ASK WHAT FORCE A SURFA(HSENAUINGONANOB]EU.
WETGHT MAY TNVOLVE BEING ON DTFFERENT PLANETS WITH DIFFERENT GRAVITLES
LTS TMPORTANT 10 LDENTLFY ALL OF THE FORCES ACTING ON THE 0BJECT

- Free body diagrams



Strategies

STEP - STAY ORGANIZED
~ [HERE ARE MANY FORMULAS TN THIS UNTT AND THERE ARE MANY DIFFERENT FORCES ACTING ON AN
OBJECT.

- Free body diagrams can help organize your work.

~ WRTTE OUT THE FORMULAS THAT YOU MAY NEED
~ WRITEOUT WHAT VARTABLES THAT THE PROBLEM PROVIDES,



How much does a 118g peanutl
butter jar weigh on Earth?

e I/




The Answer! It weighs... 1.746INY

o /b
o L/hoN
o /K

KEMEMBER! CONVERT GRAMS TO KTLOGRAMS!



What term is used to label the net
force or change in velocity being
ZERQO?

CONSTANT RATE
STATLC HRICTION
KINETLC FRICTION
LQUILTBRIUM



The answer is... Equiilibrium!

o CONSTANTRATE
o STATICHRICTION
o KINETICFRICTION
o FQUILTBRIUM



What is Newton’s 2nd law?

o (A

o ANYOBJECTSTAYS ATRE SYORIN MOTLON UNLESS ANOTHER FORCE ACTS UPON T
o FORE\/ERYA[HONWH 'S AN EQUAL AND OPPOSTTE REACTION

o ALLOBJECTS DEFORM SLIGHTLY WHEN THEY HIT EACH OTHER



His 2nd law is... F=mal

° E=M

. ANY OBJECT STAYS ATRE SWORIN MOTION UNLESS ANOTHER FORCE ACTS UPON T
o (0f RYAUIONWH 'S AN EQUAL AND OPPOSTTE REACTION

o ALLOBJECTS DEFORM SLIGHTLY WHEN THEY HIT EACHOTHER



What is the force of friction on a

2000kg car if the coefficient of
friction is 0.56



The answer 1S

INRY
10,18
1074
11,40

ON
N
/N

.. 10,987IN



What is the acceleration of a 761N

force being applied to a 44dkg box
?

o LIM/S
o LLIM/S



The Answer is... 1.7m/s



That's Forces!



